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Synthesis and Anti-thesis should
be equal
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No explanation on how that affects their career

Concluding sentence

What do you mean not allowed
there are female pilots, officers and 
other jobs you mentioned
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 Category Total marks Obtained marks 

 
Content 

Qualitative analysis 10 2 

Quantitative analysis 10 2 

Validity & Reliability 10 2 

Relevance 10 2 

 
Language 

Sentence structure 5 2 

Vocabulary 5 1 

Clarity 5 1 

Command of language 5 2 

Expression 5 1 

 
Structure 

Outline 5 0 

Introduction 5 1 

Body paragraphs 5 1 

Conclusion 5 0 

Coherence Cohesion  5 1 

Coherence 10 0 

Total 18 

 


